Fitting instructions

Make:

VW

Touareg; 2002->

4691

Type:

(D
&,

Q

\

;, QR
: '/{" "\\ﬁ;\)*i'“
7 L)

AN



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

M16x120 (10.9) / 340 Nm|
4691/19

[M12x1,5x70 (10.9) / 150Nm
[M14x1,5x70 (10.9) / 240Nm|

[M12x1,5x70 (10.9) / 150Nm]

=

225x15 L=28 I

[M14x1,5x70 (10.9) / 240Nm|

NG

Y
5y
=
[M12x1,5x70 (10.9) / 150Nm] o P i
S 5
[M14x1,5x70 (10.9) / 240Nm| y X \ 4691/19
025x15 L=28 ‘ §
Flange nut (10) s
Flange nut (10)

Flang t (10
[M12x1,5x70 (10.9) / 150Nm| ange nut (10)

[M14x1,5x70 (10.9) / 240Nm|
225x15 =28

© 469170/15-11-2011MN/1



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

S/NINL10C-1E-G1/0L169Y ©

L S —

(o1) Gnu-ebuey S

Buptoo-yies) 9k (xz) D) || mowo D @ m

(01) (nu-sbueyy L - j

Bupool-4es) ZLIN (Xg) T 00
2L (xg) %

pin () €D

=

(6'01) 021X9LIN (x2)

(6°01) 0ZXS IX¥LIN (X8)

(6°01) 0LXG X2 LIN (X8)

OL/NINLLOC-L1-G1/0L169Y @


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

Couplingsclass: A50-X

1000

1
= [164] kKN

=—=101

“’ﬂ-& \ O o

MODIFICATION?

© 469170/15-11-2011MN/3

© 469170/15-11-2011MN/8


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

VINWL10S-11-G1/0L169Y ©

Z/INWNL10C-LE-G1/0LL69Y ©

‘uabuuque OzZAIS dewab abejuy ayosupd|g ,
‘uageb AN Jop Jopo Ja|puByydE JY| UUEY JOGNIBIY Junysny
‘uap
-Jam jauyoaiabyoeu Yap\-q wap sne sjejusuagabab isejebueyuy abisse|nz
-1syoQy alp gnw sayoimebbnaziye4 sep usabuniepuy log ‘uswysuius nz
uabejieiun Bnaziye uep is! 1sejebueyuy sussse|abnz Bnaziye4 sep Inj aiq .

‘ISIAMNIH

O + O

w000+ w0

[ar==un)

L=

]

HEIdV\IﬂEI‘EI"IGCIIW

TSP

LS"‘ P ) 0+02g<-8y} Jo} Aluo

nnnnnnnnnnnnnnnnnnn
aaaaaaaaaaaa

82="1 G1X520 (x8)

2L (x8)

(6°01) 02XG"LXZLIN (x8)

<- G002 [9pow 4o} AluQ



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

A

g (2x) M16x120 (10.9)
D

(2x) M16 (self-locking
flange-nut)

M16x120 (10.9)]

© 469170/15-11-2011MN/5

Only for model 2002 -> 2004

|

Page1

L7 (8x) M14x1.5x70 (10.9)
E

(8x) M14

(8%) 025x15 L=28

© 469170/15-11-2011MN/6



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

‘2)55Q> ‘bfb(o ‘b’agc
o OAPKQIT.PO®  o°
O@‘O +7 (495%,%69-38-36q<,)\‘<>

s S >
A A A
o o of
AP AP AP
& & &
%) © ©
P P P
A A A


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

TEMPLATE: 4691

Place on outside bumper Only for the;->2010

_
_
_
_
= 2 |
Qrm A \
S N
el @10mm
u_
O
2
d_
2 100
M_ mm
240mm | >
_
_
Cut out
| @10mm
| 7
C—> Z% | Y /
< ¢

c:o_ma_qm_ bumper
_


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/


 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: large enough for 100% scale
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20110929123039
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     155
     228
     0
     Sufficient
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 10
     Number of pages: 1
     same as current
      

        
     1
     1
     10
     547
     348
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 10
     Number of pages: 1
     same as current
      

        
     1
     1
     10
     547
     348
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after page 6
     Number of pages: 1
     same as current
      

        
     1
     1
     6
     547
     348
    
            
       CurrentAVDoc
          

     SameAsCur
     AfterNum
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





